

**GREENLAND TPK. BRIDGE PAINTING** 43298 **NON-FEDERAL** 

Director of Project Development

PROJECT: GREENLAND TPK. BRIDGE PAINTING

**STATE PROJECT NUMBER: 43298** 

FED. PROJECT NUMBER: NON-FEDERAL

**DATE BIDS OPEN:** March 09, 2023, 2:00

SCOPE OF WORK:

**COMPLETION DATE:** November 03, 2023 LOCATION: Rockingham

Tpk. Bridge Painting on Bridge 128/078

**Summary of Bidders** 

Certified by: WILLIAM.J.OLDENBURG Amount: \$1,131,819.00

Award Date:

Awarded To: MONOKO LLC

760 BAYSHORE DRIVE TARPON SPRINGS, FL 34689

Contractor	Bid Amount	Rank
MONOKO LLC	\$1,131,819.00	Α
760 BAYSHORE DRIVE, TARPON SPRINGS FL 34689		
ROYAL BRIDGE INC	\$1,160,700.00	В
3601 Alt. 19 Suite A, PALM HARBOR FL 34683		
ATLAS PAINTING & SHEETING CORP	\$1,390,000.00	С
465 CREEKSIDE DRIVE, AMHERST NY 14228		
SOUTHERN ROAD & BRIDGE LLC	\$1,411,000.00	D
715 WESLEY AVENUE, TARPON SPRINGS FL 34689-6711		
ABHE & SVOBODA, INC.	\$1,593,335.00	Е
18100 DAIRY LANE, JORDAN MN 55352		



GREENLAND TPK. BRIDGE PAINTING 43298

**NON-FEDERAL** 

				F	°S&E	760 BAYS	DKO LLC HORE DRIVE RINGS, FL 34689	3601 Alt	BRIDGE INC 19 Suite A 3OR, FL 34683
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

#### **Items**

556.101	PAINTING EXISTING STRUCTURAL STEEL	U	1.00	\$470,000.00	\$470,000.00	\$910,319.00	\$910,319.00	\$487,600.00	\$487,600.00
556.201	CONTAINMENT AND ENVIRONMENTAL PROTECTION	U	1.00	\$250,000.00	\$250,000.00	\$2,000.00	\$2,000.00	\$360,000.00	\$360,000.00
556.301	WORKER PROTECTION	U	1.00	\$40,000.00	\$40,000.00	\$2,000.00	\$2,000.00	\$30,000.00	\$30,000.00
556.401	WASTE MANAGEMENT	U	1.00	\$15,000.00	\$15,000.00	\$2,000.00	\$2,000.00	\$25,000.00	\$25,000.00
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	700.00	\$36.00	\$25,200.00	\$30.00	\$21,000.00	\$95.00	\$66,500.00
606.9523	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECTIVE) TEST LEVEL 3	U	3.00	\$4,600.00	\$13,800.00	\$2,000.00	\$6,000.00	\$1,000.00	\$3,000.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$55,000.00	\$55,000.00	\$50,000.00	\$50,000.00	\$30,000.00	\$30,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$3,200.00	\$6,400.00	\$500.00	\$1,000.00	\$1,500.00	\$3,000.00
619.279	AUTOMATED TRAILER-MOUNTED SPEED LIMIT SIGN	U	2.00	\$3,000.00	\$6,000.00	\$500.00	\$1,000.00	\$1,000.00	\$2,000.00
619.63	TRUCK-MOUNTED IMPACT ATTENUATOR, TEST LEVEL 3	U	3.00	\$8,000.00	\$24,000.00	\$10,000.00	\$30,000.00	\$3,000.00	\$9,000.00
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	1,100.00	\$1.75	\$1,925.00	\$2.00	\$2,200.00	\$2.00	\$2,200.00
632.1306	BLACKOUT PAVEMENT MARKING TAPE, TYPE I (REMOVABLE), 6" LINE	LF	1,100.00	\$5.00	\$5,500.00	\$2.00	\$2,200.00	\$4.00	\$4,400.00
670.104	TEMPORARY PORTABLE LIGHTING	U	3.00	\$5,000.00	\$15,000.00	\$700.00	\$2,100.00	\$1,000.00	\$3,000.00
692.	MOBILIZATION	U	1.00	\$80,000.00	\$80,000.00	\$40,000.00	\$40,000.00	\$75,000.00	\$75,000.00
1002.1	REPAIRS OR REPLACEMENTS AS NEEDED - BRIDGE STRUCTURES	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00
1010.15	FUEL ADJUSTMENT	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00

 Totals:
 \$1,067,825.00
 \$1,131,819.00
 \$1,160,700.00

 Alt. Totals:
 Totals:
 \$1,067,825.00
 \$1,131,819.00
 \$1,160,700.00



GREENLAND TPK. BRIDGE PAINTING 43298

NON-FEDERAL

					F	PS&E	465 CREE	8 & SHEETING CORP KSIDE DRIVE ST, NY 14228	715 WESI	AD & BRIDGE LLC LEY AVENUE GS, FL 34689-6711
lt	tem No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

#### **Items**

556.101	PAINTING EXISTING STRUCTURAL STEEL	U	1.00	\$470,000.00	\$470,000.00	\$899,100.00	\$899,100.00	\$780,000.00	\$780,000.00
556.201	CONTAINMENT AND ENVIRONMENTAL PROTECTION	U	1.00	\$250,000.00	\$250,000.00	\$200,000.00	\$200,000.00	\$100,000.00	\$100,000.00
556.301	WORKER PROTECTION	U	1.00	\$40,000.00	\$40,000.00	\$20,000.00	\$20,000.00	\$33,000.00	\$33,000.00
556.401	WASTE MANAGEMENT	U	1.00	\$15,000.00	\$15,000.00	\$10,000.00	\$10,000.00	\$33,000.00	\$33,000.00
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	700.00	\$36.00	\$25,200.00	\$35.00	\$24,500.00	\$10.00	\$7,000.00
606.9523	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECTIVE) TEST LEVEL 3	U	3.00	\$4,600.00	\$13,800.00	\$4,000.00	\$12,000.00	\$4,000.00	\$12,000.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$55,000.00	\$55,000.00	\$50,000.00	\$50,000.00	\$220,000.00	\$220,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$3,200.00	\$6,400.00	\$1,000.00	\$2,000.00	\$2,200.00	\$4,400.00
619.279	AUTOMATED TRAILER-MOUNTED SPEED LIMIT SIGN	U	2.00	\$3,000.00	\$6,000.00	\$1,000.00	\$2,000.00	\$2,200.00	\$4,400.00
619.63	TRUCK-MOUNTED IMPACT ATTENUATOR, TEST LEVEL 3	U	3.00	\$8,000.00	\$24,000.00	\$1,000.00	\$3,000.00	\$5,000.00	\$15,000.00
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	1,100.00	\$1.75	\$1,925.00	\$2.00	\$2,200.00	\$1.00	\$1,100.00
632.1306	BLACKOUT PAVEMENT MARKING TAPE, TYPE I (REMOVABLE), 6" LINE	LF	1,100.00	\$5.00	\$5,500.00	\$2.00	\$2,200.00	\$1.00	\$1,100.00
670.104	TEMPORARY PORTABLE LIGHTING	U	3.00	\$5,000.00	\$15,000.00	\$1,000.00	\$3,000.00	\$5,000.00	\$15,000.00
692.	MOBILIZATION	U	1.00	\$80,000.00	\$80,000.00	\$100,000.00	\$100,000.00	\$125,000.00	\$125,000.00
1002.1	REPAIRS OR REPLACEMENTS AS NEEDED - BRIDGE STRUCTURES	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00
1010.15	FUEL ADJUSTMENT	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00

 Totals:
 \$1,067,825.00
 \$1,390,000.00
 \$1,411,000.00

 Alt. Totals:
 Totals:
 \$1,067,825.00
 \$1,390,000.00
 \$1,411,000.00



GREENLAND TPK. BRIDGE PAINTING 43298 NON-FEDERAL

				F	°S&E	18100 🗅	/OBODA, INC. AIRY LANE I, MN 55352		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

#### **Items**

556.101	PAINTING EXISTING STRUCTURAL STEEL	U	1.00	\$470,000.00	\$470,000.00	\$822,835.00	\$822,835.00	
556.201	CONTAINMENT AND ENVIRONMENTAL PROTECTION	U	1.00	\$250,000.00	\$250,000.00	\$142,000.00	\$142,000.00	
556.301	WORKER PROTECTION	U	1.00	\$40,000.00	\$40,000.00	\$31,800.00	\$31,800.00	
556.401	WASTE MANAGEMENT	U	1.00	\$15,000.00	\$15,000.00	\$30,800.00	\$30,800.00	
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	700.00	\$36.00	\$25,200.00	\$100.00	\$70,000.00	
606.9523	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECTIVE) TEST LEVEL 3	U	3.00	\$4,600.00	\$13,800.00	\$13,000.00	\$39,000.00	
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$55,000.00	\$55,000.00	\$116,500.00	\$116,500.00	
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$3,200.00	\$6,400.00	\$2,800.00	\$5,600.00	
619.279	AUTOMATED TRAILER-MOUNTED SPEED LIMIT SIGN	U	2.00	\$3,000.00	\$6,000.00	\$3,600.00	\$7,200.00	
619.63	TRUCK-MOUNTED IMPACT ATTENUATOR, TEST LEVEL 3	U	3.00	\$8,000.00	\$24,000.00	\$20,800.00	\$62,400.00	
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	1,100.00	\$1.75	\$1,925.00	\$4.00	\$4,400.00	
632.1306	BLACKOUT PAVEMENT MARKING TAPE, TYPE I (REMOVABLE), 6" LINE	LF	1,100.00	\$5.00	\$5,500.00	\$5.00	\$5,500.00	
670.104	TEMPORARY PORTABLE LIGHTING	U	3.00	\$5,000.00	\$15,000.00	\$12,000.00	\$36,000.00	
692.	MOBILIZATION	U	1.00	\$80,000.00	\$80,000.00	\$159,300.00	\$159,300.00	
1002.1	REPAIRS OR REPLACEMENTS AS NEEDED - BRIDGE STRUCTURES	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	
1010.15	FUEL ADJUSTMENT	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	

Totals: \$1,067,825.00 \$1,593,335.00 Alt. Totals: \$1,067,825.00 \$1,593,335.00



## **PS&E Comparison**

GREENLAND TPK. BRIDGE PAINTING
43298
NON-FEDERAL

				A-Bidd	der	PS8	<b>ξ</b> Ε	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
556.101	PAINTING EXISTING STRUCTURAL STEEL	U	1.00	\$910,319.00	\$910,319.00	\$470,000.00	\$470,000.00	\$440,319.00
556.201	CONTAINMENT AND ENVIRONMENTAL PROTECTION	U	1.00	\$2,000.00	\$2,000.00	\$250,000.00	\$250,000.00	(\$248,000.00)
556.301	WORKER PROTECTION	U	1.00	\$2,000.00	\$2,000.00	\$40,000.00	\$40,000.00	(\$38,000.00)
556.401	WASTE MANAGEMENT	U	1.00	\$2,000.00	\$2,000.00	\$15,000.00	\$15,000.00	(\$13,000.00)
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	700.00	\$30.00	\$21,000.00	\$36.00	\$25,200.00	(\$4,200.00)
606.9523	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECTIVE) TEST LEVEL 3	U	3.00	\$2,000.00	\$6,000.00	\$4,600.00	\$13,800.00	(\$7,800.00)
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	\$0.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$50,000.00	\$50,000.00	\$55,000.00	\$55,000.00	(\$5,000.00)
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$500.00	\$1,000.00	\$3,200.00	\$6,400.00	(\$5,400.00)
619.279	AUTOMATED TRAILER-MOUNTED SPEED LIMIT SIGN	U	2.00	\$500.00	\$1,000.00	\$3,000.00	\$6,000.00	(\$5,000.00)
619.63	TRUCK-MOUNTED IMPACT ATTENUATOR, TEST LEVEL 3	U	3.00	\$10,000.00	\$30,000.00	\$8,000.00	\$24,000.00	\$6,000.00
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	1,100.00	\$2.00	\$2,200.00	\$1.75	\$1,925.00	\$275.00
632.1306	BLACKOUT PAVEMENT MARKING TAPE, TYPE (REMOVABLE), 6" LINE	LF	1,100.00	\$2.00	\$2,200.00	\$5.00	\$5,500.00	(\$3,300.00)
670.104	TEMPORARY PORTABLE LIGHTING	U	3.00	\$700.00	\$2,100.00	\$5,000.00	\$15,000.00	(\$12,900.00)

Friday, March 10, 2023 Page 5 of 6



# **PS&E Comparison**

GREENLAND TPK. BRIDGE PAINTING
43298
NON-FEDERAL

					der	PS8		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
692.	MOBILIZATION	U	1.00	\$40,000.00	\$40,000.00	\$80,000.00	\$80,000.00	(\$40,000.00)
1002.1	REPAIRS OR REPLACEMENTS AS NEEDED - BRIDGE STRUCTURES	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$0.00

**Total:** \$1,131,819.00 \$1,067,825.00 \$63,994.00

Friday, March 10, 2023 Page 6 of 6